For problem one, you need the following:

VaR = 1.65 times Standard Deviation times Portfolio Value

However, this model uses yearly standard deviations (volatility). Problem one mentions daily standard deviation.

In option pricing, we usually measure time in years, and the volatility of an asset is usually quoted as 'volatility per year'. When using the model-building approach to calculate VaR, we usually measure time in days and the volatility of an asset is quoted in volatility per day. ?..to compute volatility per day we assume 252 trading days and the daily volatility equals: yearly volatility divided by square root of 252.

I will provide an example: say a firm has a trading account that has year volatility of 30%. The daily volatility equals .30 / square root of 252 which equals .30 / 15.87

Thus, the five day volatility equals .30 / square root of (252 divided by 5) which equals .30 divided by 7.09

Looking at problem 2, we use the 95% confidence level or 1.65 as the text has depicted. However, for problem one we use the 99% confidence level, which uses 2.33

Looking at problem 3, we compute the expected return using the weighted average model 2.1 provided on page 27. We compute the variance of the portfolio. Then, we compute the VaR of the portfolio.


For problem four, 

CaR = 1.65 times Volatility times Cash Flow from Projects

You know the CaR equals $200 MM and you have the 1.65. You do not have the volatility. You can set Cash Flow from Projects to 1.

Then, you solve for volatility.

For the new model: you solve for CaR by using this model:

CaR = 1.65 times volatility you solved above times 1.1

This CaR equals the total new capital. You have the old capital of $200 MM so the difference represents capital needed.

The difference in capital times the 12% rates equals the earnings needed.
Problem 5.

This problems seems a little unusual though we could use this general model to solve:

The economic profit of the project is equal to: - investment + present value of future cash flows - change in cost of CaR. 

First, we would need an interest rate: say we pick 10% for that rate. Then, the investment equals a negative cash flow. Next, the PV of the future cash flows in this case equals a perpetuity. We solve this be saying the PV = Cash Flow Divided by Rate. The change in the cost of Cash at Risk equals the Cash at Risk times the interest rate.


Or a second method to solve this problem (giving a different answer) would be where you assume the Cash At Risk Yearly Interest Charge represents a reduction in the future cash flows. I will give you an example,

Say we have an investment that cost $500,000. The investment changes cash at Risk by $50,000. Thus, at a 10% rate, we have a $5,000 yearly change in cost of cash at risk. And, the investment generates $60,000 cash flow per year.

We then have a the PV of cash flows as: $60,000 yearly cash flow less $5,000 cash at risk cost = $55,000 divided by .10 interest cost = $550,000 Present Value of Cash Flows.

Here we have a project value equaling $50,000. (-$500,000 plus $550,000 present value cash flows).

You can use either method.

